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Name: __________________________________



1
What is the multiplicative inverse of [image: image1.png]


?

	1)
	[image: image2.png]




	2)
	[image: image3.png]




	3)
	[image: image4.png]




	4)
	[image: image5.png]






2
The multiplicative inverse of [image: image6.png]


 is

	1)
	[image: image7.png]




	2)
	[image: image8.png]




	3)
	3

	4)
	[image: image9.png]






3
Which equation illustrates the multiplicative inverse property?

	1)
	[image: image10.png]




	2)
	[image: image11.png]i






	3)
	[image: image12.png]0





	4)
	[image: image13.png]






4
Which equation illustrates the multiplicative inverse property?

	1)
	[image: image14.png]




	2)
	[image: image15.png]




	3)
	[image: image16.png]




	4)
	[image: image17.png](~a)(-a) = a*







5
The reciprocal of 5 is

	1)
	1

	2)
	[image: image18.png]




	3)
	[image: image19.png]




	4)
	[image: image20.png]






6
The additive inverse of [image: image21.png]-



 is

	1)
	[image: image22.png]




	2)
	[image: image23.png]




	3)
	0

	4)
	[image: image24.png]






7
What is the additive inverse of [image: image25.png]


?

	1)
	[image: image26.png]




	2)
	[image: image27.png]




	3)
	[image: image28.png]




	4)
	[image: image29.png]






8
What is the additive inverse of the expression [image: image30.png]


?

	1)
	[image: image31.png]a+ b





	2)
	[image: image32.png]




	3)
	[image: image33.png]-+ b





	4)
	[image: image34.png]-a-b







9
Which expression must be added to [image: image35.png]3x—-7



 to equal 0?

	1)
	0

	2)
	[image: image36.png]Ix+ 7





	3)
	[image: image37.png]-3x-7





	4)
	[image: image38.png]~3x+7







10
If [image: image39.png]a0



 and the sum of x and [image: image40.png]-



 is 0, then

	1)
	[image: image41.png]




	2)
	[image: image42.png]




	3)
	[image: image43.png]




	4)
	[image: image44.png]






11
Which equation illustrates the multiplicative identity element?

	1)
	[image: image45.png]x+0=x





	2)
	[image: image46.png]




	3)
	[image: image47.png]i






	4)
	[image: image48.png]






12
Which statement best illustrates the additive identity property?

	1)
	[image: image49.png]




	2)
	[image: image50.png]




	3)
	[image: image51.png]




	4)
	[image: image52.png]






13
Which equation is an illustration of the additive identity property?

	1)
	[image: image53.png]




	2)
	[image: image54.png]x+0=x





	3)
	[image: image55.png]




	4)
	[image: image56.png]i








14
Which statement illustrates the additive identity property?

	1)
	[image: image57.png]




	2)
	[image: image58.png]—f+ 6

0





	3)
	[image: image59.png]




	4)
	[image: image60.png]A+ +3=4+(6+73)







15
Which equation illustrates the associative property?

	1)
	[image: image61.png]X+Y+zZ=X+y+zZ





	2)
	[image: image62.png]




	3)
	[image: image63.png]X+Y+Z=Z+y+x





	4)
	[image: image64.png](x+y)+z=x+(y+2z)







16
Which equation illustrates the associative property?

	1)
	[image: image65.png]




	2)
	[image: image66.png]a+b=b+a





	3)
	[image: image67.png]a(h +c) = (ab) + (ac)





	4)
	[image: image68.png]@+d)+ec=a+(b+c)







17
Which expression is an example of the associative property?

	1)
	[image: image69.png](x+y)+z=x+(y+2z)





	2)
	[image: image70.png]X+Y+Z=Z+y+x





	3)
	[image: image71.png]




	4)
	[image: image72.png]






18
Which equation illustrates the associative property of addition?

	1)
	[image: image73.png]




	2)
	[image: image74.png]




	3)
	[image: image75.png]G+x)+y=3+(x+y)





	4)
	[image: image76.png]






19
Which equation is an example of the use of the associative property of addition?

	1)
	[image: image77.png]




	2)
	[image: image78.png]




	3)
	[image: image79.png]Z+¥)+3=x2++3)





	4)
	[image: image80.png]3+ (x+y)=(x+y)+3







20
Which equation illustrates the distributive property for real numbers?

	1)
	[image: image81.png]




	2)
	[image: image82.png]Jiv0= A3





	3)
	[image: image83.png](1.3x0.07) x 0.63

3x(0.07x0.63)





	4)
	[image: image84.png]={=DE+ =D







21
Which equation illustrates the distributive property?

	1)
	[image: image85.png]




	2)
	[image: image86.png]a+b=b+a





	3)
	[image: image87.png]a+(b+c)=(a+d)+c





	4)
	[image: image88.png]






22
Which equation illustrates the distributive property of multiplication over addition?

	1)
	[image: image89.png]




	2)
	[image: image90.png]6(3a +48) = 18a + 245





	3)
	[image: image91.png]6(3a + 48) = (3a + 48)6





	4)
	[image: image92.png]6(3a + 48) = 6(45 + 3a)







23
If [image: image93.png]a+ b



 is less than [image: image94.png]c+d



, and [image: image95.png]


 is less than [image: image96.png]a+ b



, then e is

	1)
	less than c

	2)
	equal to c

	3)
	less than d

	4)
	greater than d



24
The sum of two negative numbers always has to be

	1)
	negative

	2)
	positive

	3)
	zero

	4)
	an integer



25
Which statement is true for all real number values of x?

	1)
	[image: image97.png][x-1] =0





	2)
	[image: image98.png]x=1] = (x-1)





	3)
	[image: image99.png]




	4)
	[image: image100.png]






26
Perform the indicated operation:  [image: image101.png]





State the name of the property used.


1
ANS:
2
REF:
010516a

2
ANS:
4
REF:
010730a

3
ANS:
2
REF:
010630a

4
ANS:
3
REF:
011428ia

5
ANS:
2
REF:
060815a

6
ANS:
1
REF:
010821a

7
ANS:
1
REF:
060315a

8
ANS:
3
REF:
060926ia

9
ANS:
4
REF:
010207a

10
ANS:
3
REF:
060011a

11
ANS:
4
REF:
010314a

12
ANS:
4
REF:
060624a

13
ANS:
2
REF:
089907a

14
ANS:
1
REF:
081209ia

15
ANS:
4
REF:
011114ia

16
ANS:
4
REF:
080725a

17
ANS:
1
REF:
060424a

18
ANS:
3
REF:
010428a

19
ANS:
3
REF:
011224ia

20
ANS:
4
REF:
060108a

21
ANS:
1
REF:
060503a

22
ANS:
2
REF:
080413a

23
ANS:
1

Using the transitive property of inequality, if [image: image102.png]d+ela+d



 and [image: image103.png]a+b<{c+d,



 then  [image: image104.png]d+elc+d



  Using the subtraction property of inequality, subtract d from each side of the inequality [image: image105.png]d+edc+d

e<c



.
REF:
080115a

24
ANS:
1
REF:
080810a

25
ANS:
4

(1) not true if x = 1.  (2) not true if x = 1.  (3) not true if x = -1
REF:
060207b

26
ANS:


[image: image106.png]—fit + 42



.  distributive
REF:
061032ia

